ec 6-2: Slope-Intercept Form for the equation of a line.

y=mx+Db

slope Y-intercept

[Werodz | @) (=6,14)&(3.8)

First: Find the slope.

— 2
The same as previous: Vay "= §

Second: Replace m in y = mx + b with the slope
= _E X b
Third: Replace y and x with the coordinates of one of
the points  Using (3.8) g="%(3) *b

Fourth: Solve for b.
Firstsimpliy %= -Z4+h  b=10

add 2 to both sides +2 +2

Fifth: Rewrite y = mx + b with the values of m and b
you've found.

y:'%x ¥ 1O

Writing the equation of a line in Slope-Intercept Form:

1. Write the equation of the line that passes through each pair points. Give your answer in
Slope-Intercept Form

a) (~6,14)&(3,8)

First: Find the slope.

He8 _ & 2

PSS =y 9
Second: Write the equation in Point-Slope Form

Using38) Y-%= "5 [x-D

Third: Change Point-Slope into Slope-Intercept
)

Distribute the slope: \/—% = e +)

LT +8

Add 8 to both sides:

V="5x 10

1. Write the equation of the line that passes through each pair points. Give your answer in
Slope-Intercept Form

b) (4,-7)&(2,-7) wm= =1 - 2 -4

e

If the y-coordinates
are the same your
equation always turns out
tobe y=that#



2. Write the equation of the line in the graph. Give your answer in Slope-Intercept Form.

y-intercept = 3
\
—— = =5 |

g;—gx +3

The data in the table can be modeled
using a linear function.

1. Write this linear function.

_ : . s T
Pick two data points to find slope. Y\ — ﬁ “i==
Using (4,14) & (12,17) L ¥

2. Find the value of y when x=6 &\

Use this equation an replace x with 6 and find y.
Y= ()¢ 2.5 =115

3. Find the value of x when y=11

Use this equation an replace y with 11 and find x.

=Zx+/2.5 —|#= =Y

x |y
4 |14
8 | 155
12 |17
16 | 185

Use this slope and one
of the points, ex: (8,15.5)
to write equation in
slope-intercept form:



